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1.

3.

Memory and storage are different in that
MEMOrY is ............ and storage is ............ .

(A) Slow, Fast

(B)

Temporary, Permanent

(C) Permanent, Temporary

(D) All of these

Which of the following software

applications is used for accounting ?

(A) PowerPoint

(B) WordPerfect

(C) Tally

(D) None of these

Which of the following list items
exemplifies a web browser ?

(A) Netscape Communicator

(B)

Microsoft Internet Explorer

(C) Google Chrome

(D) All of these
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4. What is the high speed memory between 4. = HEN SR g & o9 & sRee

the main memory and the CPU called ? TEI 1 1 HE S § 2
(A) Register Memory (A) TS 79
(B) Cache Memory B) 31 AER
(C) Storage Memory (C) WRS 79
(D) Virtual Memory (D) T HAR
5. Magnetic tape is a type of ................ access 5. Hmfed 3T TH TPR HT .o T
device. fearsg 7l
(A) Sequential (A) IESIER]
(B) Direct (B) TR
(C) Step (C) =
(D) Indirect (D) TSR

6. The basic operations performed by a 6. FHFIX gN freaifea gimt sfmem ¥

computer are : ( A) 3:[9}&[\2735 m

(A) Arithmetic operation . .
(B) AffSiohet SATRIH

(B) Logical operation

(C) VRS R feife
(C) Storage and relative )

(D) All of these (D) 3 |t
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7. CD-ROM s a: 7. CD-ROM T# ¢ :
(A) Semiconductor memory (A) THhgF TR
(B) Register Memory (B) ferex AER
(C) Magnetic memory (C) Fwafes FERG
(D) None of these (D) T8 W FI TR
8. Which of the following is not an input device 8. fr=fafea & ¥ =m@ sye fearg =&
? g2
(A) OCR (A) STEER
(B) Optical scanners (B) siffewd L=
(C) Voice recognition device (C) STETS Yga arel STeh
(D) COM (Computer Output to (D) COM (¥ R T
Microfilm) HIEshifthed )
9. BCDis: 9. BCD®:
(A) Binary Coded Decimal (A) Binary Coded Decimal
(B) Bit Coded Decimal (B) Bit Coded Decimal
(C) Binary Coded Digit (C) Binary Coded Digit
(D) Bit Coded Digit (D) Bit Coded Digit
10. A computer consists of : 10. Th T .o Y AT oa 7
(A) A central processing unit (A) ﬁafl Trafe '*{ﬁl?.’
(B) A memory (B) HHRY
(C) Input and output unit (C) TR IR =Y e
(D) All of these (D) I |t
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11. An integrated circuit is :
(A) A complicated circuit

(B) An integrating device

(C) Much costlier than a single transistor

(D) Fabricated on a tiny silicon chip

12. The term gigabyte refers to :
(A) 1024 bytes
(B) 1024 kilobytes
(C) 1024 megabytes

(D) 1024 gigabyte

13. A byte consists of :
(A) One bit
(B) Four bits
(C) Eight bits

(D) Sixteen bits

14. A computer system includes :
(A) Hardware
(B) Software
(C) Peripheral devices

(D) All of these
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(A) TH S wfehe
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T Hr o | e §
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15.

16.

17.

18.

Which protocol provides an e-mail facility
among the hosts ?

(A) POP

(B) SMTP

(C) IMAP

(D) MIME

The intersection areas of rows and
columns in spreadsheet are called :

(A)
(B)
©)

Box
Cells
Line
(D) None of these
MICR stands for :

(A)
(B)
©)

Magnetic Ink Cases Reader
Magnetic Ink Card Recognition
Magnetic Ink Character Recognition
(D) None of these
Undo is similar to :
(A)
(B)
©)

Ctl + X
Ctrl +Z
Ctul + U

(D) Ctrl + C
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15.

16.

17.

18.

FHIE TR Bl o o §- et giaen
YR AT T ?

(A)
(B)
©)

POP
SMTP
IMAP
(D) MIME
Trevfe # Ul oIk Wl & faeee &
1 e I T

(A) e

(B) Ted

(C) e

(D) TTH & FFE TE

MICR 1 9o € :

(A) Ffesw T Haw et

(B) #Hfew 3% HE Repirgsied
(C) FHfcH 3 HiF NHERH
(D) T & FE T&

Undo & ¥9M T :
(A) Cul +X
B) Ctl +7Z
(C) Ctl+U
(D) Cil +C
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19.

20.

21.

22,

The user can enter the data through :
(A)
(B)
©)

CPU
Keyboard
Plotter
Printer

D)

Which of the following requires large

computers memory ?
(A)
(B)
©)

Imaging
Graphics
Video

(A) All of these

We can get into menu by

pressing Alt + F.
(A) File
(B)

©)

Edit
View
(D) None of these
VGA stands for :
(A)
(B)
©)

Volatile Graphics Access
Video Graphics Array
Video Graphics Adapter

(D) None of these

Set-D QCA December-2023

19.

20.

21.

22,

SUARTR! S HEAH 9 22T TSl T Hehall
%

(A) IRy

(B) &S

(C) =X

(D) fa=x

frefafed & @ foae fou st Fm=
FERY 1 STevahar gt § 2

(A) zafsm

(B) nfther

(C) Hfife=m

(D) I |

T Alt + F TaHT
L

(A) EA

(B) tfee

© A

(D) T | FIE T

VGA &1 Haadl ¥

(A) TCRES Ahr T
(B) difea mitrm T

(C) =fifea mftre T
(D) ¥ & ®E T
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23. Operating system is a : 23. sfqfen fawew & w -

(A) Language (A) wm
(B) Program (B) FHEIEH
(C) Application software (C) URAHIA AT
(D) System software (D) fa=d Gieeam
24. When we delete the file, the file goes to : 24. & &9 WA hi fecle %, @ FEA
(A) My Computer et S %
(B) Control Panel (A) HE PR i
(B) Fvdet ¥t
(C) Recycle bin (©) e e A
(A) None of these D) T A FE T

25. The memory which is programmed at the 25. 59 9 w1 SEe fEo & g gRm

time it is manufactured is : o < %

(A) ROM (A) 9

(B) PROM (B) WM

(C) EPROM (C) s9H™

(D) None of these (D) T 9 FE 7l

26. The icons are buttons that activate the item 26. 3AZRT 9 92T B © S 3AZEH I Gy

when : FA T I

(A) Pressed (A) W= HW T

(B) Single-click (B) favrer-foreer ta
(C) Double-click (C) <IoA-forereh td &
(D) None of these (D) TTH 9 HIE 7l
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27. What is the file extension of textual files

in windows ?
(A) .MDF
(B) .DOC
(©C) .TXT

(D) None of these

28. Which device is used for reading answer

sheet by means of light ?
(A) OCR

(B) OMR

(C) MICR

(D) None of these

29. What will allow you to select entire

document ?
(A) Select
(B) Replace
(C) Select all

(D) None of these
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~*

27. f9S9 # SR=gA BISEl Hl HIEA THFIIM

FNE ?

(A) .MDF
(B) .DOC
(C) .TXT

(D) T 9 ®7 &

28. THIT & HILAH 9§ IR-YRKIHRI 9§ & Ty

fh e IUHIUT T ITAN e e § 2
(A) OCR
(B) OMR
(C) MICR

(D) T 9 HE I

29. T IR WO TEACS HT =TI FIA BT

TR S 2

(A) oo

(B) fr=m

(C) foorre atfa
(D) T ¥ & T
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30. Offline device is : 30. ifhemsT feasd ¥ :
(A) A device which is connected to (A) T feamsg < W 3 e B &
CPU
(B) A device which is not connected to (B) T TR A @"ﬁ?’{\@ wwe T
CPU (C) TH TR THH VRS feary
(C) A direct access storage device
(D) 3T § %8 T
(D) None of these
31. Cut removes the selected text from your 31. < AT SHES ¥ FIMA RS Al B2
document and puts it on the ? TAT AR R W IAR :
(A) Font (A) I
(B) Editing (B) ufefen
(C) Clipboard (C) freruare
(D) None of these (D) T8 W FI TR
32. RAM stands for : 32. RAM &1 7qe™ ¥ :
(A) Read Access Memory (A) T & 7K
(B) Random Access Memory (B) Yeq TR 9E
(C) Random Application Memory ©) e Tferhym qE
(D) None of these (D) 37-@ T R T
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33. Which of the following is a pointing 33. fr=fafea & & #Fe © diefon feasa

device ? 772
(A) Keyboard (A) ‘e@ﬁw
(B) Monitor (B) HifHX
(C) Mouse (C) =™
(D) Printer (D) fa=x
34. The binary number system has a base : 34. SR TEAT JUMCH HT TH TR Bl §
(A) 2 (A) 2
(B) 4 (B) 4
< 8 C) 38
(D) 16 (D) 16

35. Which of the following program your 35. Y% HFF I AT HL & AG HFHKR

computer uses to get the computer system faeen il =1e] e & ferg skt e
started after you turn it on ? ';jrﬂﬁgm ¥ forH W ST
(A) Initialization (A) ST
(B) Boot B) T
(C) Source code (C) & Fre
(D) None of these (D) 9 ¥ FIE Tl
36. Microsoft Word is a : 36. TEHER TE TF ¢ ¢
(A) Word Processing Program (A) = wrEfET qom
(B) Spreadsheet Program (B) Srevite g
(C) Presentation Program (G ECAERIbIL
(D) None of these (D) =99 9§ w7
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37. What is the smallest and largest font size

available in Font Size tool on formatting

toolbar ?

(A) 8 and 72
(B) 8 and 70
(C) 8 and 82

(D) 10 and 72

38.
Word documents ?

(A) .xt

xIsx

(B)
(C) .docs

(D) .doc

39. To copy selected text, press the key :

(A) Alt + Shift + C

(B) Ctrl + Shift + V
(C) Ctrl+C

(D) All of these
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What is the default file extension for all
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37.

38.

39.

TRIAET TAGR W I SHR T H ST
Tl e AR TEd d9] BT SHR =
%2

(A)

8 3R 72
8 3R 70
8 3R 82
10 3R 72

(B)
©

(D)

T g€ cmast & foau fewiee wEa
TFIYA FN T ?

(A) .txt

xIsx

(B)

(C) .docs

(D) .doc

T W F Wiy S @ o, St
@

(A) Al + Shift + C

(B) Ctrl + Shift + V

(C) Ctl+C

(D) I 9+t
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40. What is the shortcut key for ‘Cut’ the

41.

selected text ?

(A) Ctul+U

(B) Ctrl+Z

(C) Cul+C

(D) Ctrl + X

What is the shortcut key to create a ‘New’
document ?

(A) Shift+ N
(B) Ctrl+N
(c) Alt+N

(D) Shift + Ctrl + N

42. What is the shortcut key to ‘Print’ a

document ?

(A) Ctl+V

(B) Ctl+W
(C) Ctrl+P

(D) Ctl+R
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40.

41.

42,

=Ifd SRS ‘e’ wH Ty v
FHl AT ?
(A) Cul+U
(B) Ctl+Z
(©) Cul+C

(D) Ctrl + X

‘T’ TEAAS S T YRS Sl T 2
(A) Shift + N
(B) Ctl+N
Alt + N

(©)

(D) Shift + Ctrl + N

forelt TEaes 1 fUe’ A i Tifhe Hi
FMT ?

(A) Cul+V
(B) Cul+W
(C) Ctl+P

(D) Ctl+R
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43.

44.

45.

What is the shortcut key for Spelling

Check in document ?

(A) Fl

(B) F2
(C) F4

(D) F7

Which of the following is Page

Orientation ?

(A) Landscape

Portrait

(B)
(C) Both (A) and (B)

(D) None of these

The Software which contains rows and
columns is called :

(A) Spreadsheet

(B)

Word processing

(C) Database

(D) None of these
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43.

44.

THES § oA Site & few widswe Hsi
FNE ?
(A) Fl
(B) F2
(C) F4

(D) F7

frefefea 8 9 s s ARdeyE § 2
(A) Wiew@y

(B) e

(C) (A) 3 (B) <l

(D) T ¥ =i &

45. 9% G foad it oI wied 8n ¥,

.............
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46. The cell reference for cell range of A2 to

MI12is:

(A) A2!MI12
(B) A2.M12
(©) A2:M12
(D) A2:M12

47. An Excel Workbook is a collection of :

(A) Workbooks

(B) Worksheets

(C) Charts

(D) Both (B) and (C)

48. NOT, AND, OR and XOR are :
(A) Arithmetic operators
(B) Relational operators
(C) Logical operators

(d) None of these

49. What is the shortcut key to insert new

sheet in current workbook ?
(A) Alt+Fl11

(B) Cul+ Fl11

(C) Shift + F11

(D) None of these
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46. A2 9 M12 &t ¥a1 I & foau 9@ dgy

(A) A2IMI12
(B) A2.MI12
(©) A2:M12
(D) A2:M12

(D) (B) &R (C) B

48. NOT, AND, OR 3 XOR % :

(A) JgAfeF AfRed
(B) fowma stfmed
(C) difSiher sffmed
(D) T & FE T&

49. M HEYRTR H 7S e STeM Hi Aohe

FHSTt T E ?

(A) Alt+Fl11

(B) Cul +Fl1

(C) Shift + F11
(D) T & FE Ta

Contd.



50.

51.

52.

To start slide show of a presentation :
(A) Press F5 key
(B) From Slide Show Tab choose Start
From Beginning option

(C) From Slide Show menu choose
Rehearse timing

(D) Both (A) and (B)

From which tab you can access Picture,
Test Box and Chart etc. ?

(A) Home

(B) Insert

(C) Transitions

(D) None of these

Which short-cut key inserts a new slide
in current presentation ?

(A) Ctrl + N

(B) Ctrl+S
(C) Ctrl +Q

(D) Ctrl+ M
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50.

51.

52.

o

£z

fa -

(A) F5#sfi gamd

(B) igs I 39 ¥ Wi wim faffm
forehea g

(C) wrEE W A & fed e o4

(D) (A) R (B) i

USIeYM h TABE I URY hid &

3 fhg 39 & fyaer, 2= ot IR =
e qoh IE Fehdl © ?

(A) @™

(B) T

(©) iform

(D) T | FE T&

HIFEl IME-He RS TAHA ISIeIE H Th
TE TAEE Towt § 2
(A) Ctrl+ N

(B) Ctrl+S

(C) Cul+Q

(D) Ctrl+M
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53.

54.

5S.

What PowerPoint feature will you use to
apply motion effects to different objects
of a slide ?

(A) Animation Scheme

Slide Transition

(B)
(C) Slide Design

(D) None of these

Microsoft PowerPoint is a :

(A) Database program

(B)

Spreadsheet program

©)

Presentation program

(D) Word processing program

What is internet ?
(A) A network of interconnected local
area networks

(B)

A collection of unrelated computers

(C) Interconnection of wide area

networks

(D) A single network
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53. wigs & fafus sifeside W 7Ifd gw@E @1

F & fau o9 forw ueRTise gfaer &
SYIART 4T ?

(A) THHE Fror

(B) wEe e

(C) wmse fesmed

(D) T & HFE T

54. HEHIGTE YERUREE § TF |

(A) SIEH qH
(B) HHs¥iie g™
(C) FSiewH Y
(D) o€ wafET T

55. ST RN T ?

(A) TWER IS WA &3 42a% &l Th
Jeah

(B) T4 T I TUT

(C) d1zE TRAT 72as Hl TTFHARM

(D) T& THd 429
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56. Data communication system within a

57.

S8.

building or campus is :
(A) LAN

(B) WAN

(C©) MAN

(D) PAN

............. is a set of rules established
which determines that how the data is
transmitted between different computers in
a network.

(A) Protocol

(B) WWW

(C) URL
(D) Hyperlink

WWW stands for :
(A) World Wide Web
(B) Web Without Wires
(C) World With Wires

(D) All of these
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56.

57.

S8.

fordt o =1 9 & ofiat 221 T=R gome

............

LAN
WAN
MAN

PAN

................ Tonfya foml &1 T 92 © S

75 (iR o © foF Jeaen  fafvm weged
% o= S HY TEING o S 2
(A) FrRrR

(B) SSHEKISKY
(C) FSTRTA

(D) eEWicH

WWW 1 7aed ¥ :
(A) dcS 915 99
(B) a fogamse am
(C) e forg A
(D) I 9+t
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59.

60.

61.

............. is a malicious code

A computer
which self-replicates by copying itself to
other programs.

(A) Worm

(B)

Program
(C) Virus

(D) None of these

Which of the following is not an example
of wireless communication ?

(A) Wi-H
(B) Mobiles
(C) Landline

(D) Wireless Computer Parts

SMTP stands for :

(A) Simple mail transfer protocol

(B)

Simple mail transmission protocol

(C) Simple mail translator protocol

(D) Simple mail transfer process
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60.

61.

T I 3T T H it e @ gfagia
T T

(A) o

(B) WM

(C) T=™

(D) T 9 ® &

Frfafed § | HH SRRE HaR 1 3R
T T ?

(A) oR-FTE

(B) Hrsga

(C) cigarE

(D) IAEH HFH UeH

SMTP &1 HACH ............
(A) Tome 9 TEw G
(B) To=rer 7@ grEfe™ e
(C) fome B TEeeX Wesia

(D) Towme 7 T 9EE
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62. What does the acronym ‘e-commerce’

63.

64.

stand for ?

(A) Electric Commerce

(B) Electronic Commercialization
(C) Earnings Committee

(D) Electronic Commerce

Which e-commerce model involves selling
products directly to consumers over the
internet ?

(A) B2B

(B) C2C

(C) B2C

(D) B2G

Which of the following is an example of
a social media platform commonly used
for e-commerce marketing ?

(A) Facebook

(B) LinkedIn

(C) Twitter

(D) All of these
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62. ‘T-wimd W A w T T ?

63.

64.

(A) TR HAE
(B) SomRITeh STIHRIEHIO
(C) AT it

(D) SoERieh HiAd

e ¢-Frd diea # 3ee W Suimet
=1 WY S e e ¥ 2

(A) B2B
B) C2C
(C©) B2C
(D) B2G

Hiad wEfen & fom swEm fag Sw
TS FITel e WhHE 1 ST T
(A) HEIF

(B) feiwresd

© foz

(D) I 9+t
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65. Modulator and demodulator as combine 65. HigX 3N UGN HI Fasd & ®9 §
is known as : ST S ©
(A) Modulus (A) Higa™H
(B) Modem (B) HieH
(C) Mod switch (C) wre fa=
(D) Mod access (D) Hie g
66. Browser of Apple is : 66. T HT TSN ©
(A) Chrome (A) HH
(B) Firefox (B) HRIHI
(C) Opera (C) s
(D) Safari (D) 9HRI
67. Which one of the following is an example 67. Trfafea & & FFa $eme 99 551 F
of an ‘internet search engine’ ? TR T 2
(A) LINUX (A) TTETH
(B) Google (B) A
(C) MS Word (©) TEE A
(D) Windows (D) fave=
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68. Bluetooth is the wireless technology for : 68. TIIT ooeeeninnn % o arRe™ Jw® T
(A) Local area network (A) Wwa T SECEd
(B) Personal area network (B) TH9a U@ Heas
(C) Metropolitan area network (C) Hmiferen ufen Seas
(D) Wide area network (D) dES TRE Seaw
69. The most commonly used internet 69. IEE TUH W TIHS FHARM h1 ol
connection wirelessly are : 3fere U= foRa T €
(A) Wi-H (A) T E-FE 5N
(B) Mobile and Hotspots (B) T 3R glemie g’
(C) ISDN (C) SRTHEIT 5RI
(D) All of these (D) I |t
70. LAN stands for : 70. LAN I Hqe™ ¥
(A) Local Area Network (A) Wha TR Seas
(B) Land Area Network (B) <vE TRAT A2
(C) Least Area Network (C) i TRAT Jeas®
(D) Leave All Network (D) g 3ifel Jea®
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71.

72.

73.

74.

What is the full form of CPU ?
(A)
(B)
©)

Computer Processing Unit
Computer Principle Unit
Central Processing Unit
D)

Control Processing Unit

Which of the following is not a
characteristic of a computer ?

(A)
(B)

©)

Versatility
Accuracy
Diligence
(D) LQ.

Which of the following is the smallest unit

of data in a computer ?
(A) Bit

(B) KB

(C) Nibble

(D) Byte

Who is the father of computers ?
(A) James Gosling

(B) Charles Babbage

(C) Dennis Ritchie

(D) Bjarne Stroustrup
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71.

72.

73.

74.

g 1 ol &9 = T ?
(A) PR FrEfET i
(B) AR fofaae it
(C) Tz drafE gfte

(D) U FEfET e

frefafea # & S wrge &t fagom
TR ?

(A) wdfefast

(B) TR

(C) fefersta

(D) M.,

frefafed & ¥ 1 FreR § 22 ®f T99
B THE T 2

(A) fae

(B) hdll

(GEREE]

(D) wm=e

FT & TF D § 7
(A) =g MEferT
(B) =red e
(C) sfra =
(D) = T
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75. Which of the following is the brain of the
computer ?
(A) Central Processing Unit
(B) Memory
(C) Arithmetic and Logic Unit

(D) Control Unit

76. The only language which the computer

understands is :

(A) Assembly Language
(B) Binary Language
(C) BASIC

(D) C Language

77. One nibble is equivalent to how many
bits ?
(A) 2
(B) 4
©) 8

(D) 1
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75. frafafea 5 ¥ & FFH w1 Afas®
T2
(A) Hzet FrfeT e
(B) HHRY
(C) s1efHfesn woe @t Ife
(D) FI e

76. T A Ao F5 P T ¥, 9% ¥
(A) ST oot
(B) g oferst
(C) af&Fs

(D) G e

77. T fee fran foeq & sOeR § ?
(A) 2
(B) 4
C) 8

(D) 1
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78.

79.

80.

81.

The process of producing useful

information for the user is called :
(A)
(B)
©)
(D)

Controlling
Outputting
Inputting

Processing

VDU stands for :
(A)
(B)
©)
(D)

Virtual Display Unit
Visual Display Unit
Virtual Detection Unit

Visual Detection Unit

The two basic types of memory in a

computer are :
(A)
(B)
©)
(D)

Primary and Major
Primary and Secondary
Minor and Major

Main and Virtual

The

‘heart’ of the processor which

performs many different operations :

(A) Arithmetic and logic unit

(B) Motherboard

(C) Control unit

(D) Memory
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78.

79.

80.

81.

STl o fAT ST SRR TAR A

..............

............

IO 1 ‘%A I e ST 3TN SATIReH
HIATR

(A) fafesw iR @ifs gfTe

(B) WewEE

(©) Fvda e

(D) HERY
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82.

83.

84.

What does MAR stand for ?
(A) Main Address Register
(B) Memory Access Register
(C) Main Accessible Register

(D) Memory Address Register

ASCII stands for :
(A) American
Information Interchange
(B) American Scientific
Information Interchange
(C) American Scientific
International Interchange

(D) American

International Interchange

Standard Code

Code

Code

Standard Code

for

for

for

of

The value of radix in binary number

system is :
(A) 2
(B) 8
© 10

(D) 1
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82. MAR &1 1 319 ® ?
(A) B9 TSH X
(B) HHRI THHH IR

(C) * TfHae e

(D) FHER TSH IR

83. ASCII 1 HdoTsl ©

(A) fFT WigE ®Ie ®R ThHHIH

EEAE

(B) TR WEfefthe wIg ®R A

ECAE

(C) TR TRfefhe ®g B TeHyHe

EEAE

(D) TR WIS &l Ah TTHIEA

84. A HEA YONEl § e 1 7

TA-2
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85. What could be the maximum value of a 85. 3T T&AI YUNCl H Ueh 37k o1 STferehad

single digit in an octal number system ? T 41 B FHhAT § ?
(A) 8 (A) 8
B) 7 B) 7
€ o ©) 6
D) 5 D) 5
86. The binary number 111 in octal format is : 86. AT UET H ST T&AT 111 coveven. 7l
(A) 6 (A) 6
B) 7 B) 7
< 8 C) 38
D) 5 D) 5

87. What does the symbol D represent in a 87. THEfama WA Yunell H Ut D I

hexadecimal number system ? TEar § ?
(A) 8 (A) 8
(B) 16 (B) 16
© 13 ©) 13
(D) 14 (D) 14
88. *@Ac# is atype of ............. data. 88. *@Ac#H Th BN Rl wevvvvrnnne AR
(A) Symbolic (A) T
(B) Alphanumeric B) W’{ﬁﬁ%
(C) Alphabetic (C) ITHEIEh
(D) Numeric (D) ?{aﬁﬁ
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89. Which of the following is not a type of

90.

91.

92.

computer code ?
(A) EBCDIC
(B) BCD

(C) ASCII

(D) EDIC

ASCII-4, ASCII-8
ASCII-8, ASCII-16
ASCII-7, ASCII-8
ASCII-4, ASCII-16

What is the 1's complement of 11010 ?
(A) 11010
(B) 11011
(C) 00110
(D) 00101

A light-sensitive device that digitizes
printed texts, drawings or photos is
referred to as :

(A)
(B)
©)
(D)

Joystick
Printer
Scanner

OCR
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89.

90.

91.

92.

frafafed & & S FHIR HIS FH TH
TR T § 2

(A) EBCDIC

(B) BCD

(C) ASCII

(D) EDIC

ASCII & B Jh &

........................

(A) ASCII-4, ASCII-8
(B) ASCII-8, ASCII-16
(C) ASCII-7, ASCII-8

(D) ASCII-4, ASCII-16

11010 T | |H FN T ?
(A) 11010
(B) 11011
(C) 00110
(D) 00101

T THRT-HAGATIe TR0 S qisd 11e,
o= = w # fefSea oA 7, 9w
ST R

(A) afes

B) fux

(C) =T

(D) SR

Contd.




93.

9.

95.

96.

Excel requires an operator to indicate that
a formula is being entered in a cell, such

as

(A) &
(B) !
© -
D) =

In how many generations can a computer
be categorized ?

(A) 2

B) 3

< 5

D) 7

Another name for an error is :
(A) Bug

(B) Cursor

(C) Debug

(D) Failure

Graphical representations of objects like

files, folders, etc. include :
(A)
(B)
©)
(D)

Taskbar
Windows
Icons

Desktop
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93.

9.

95.

96.

TR H1 TE AR B T TH AR FY
STETIRal Bt & fF ¥a1 § uw wiFen g
WT‘ITW%,éﬁz

(A) &

B) !

<o -

D) =

T P ! forat ffeal § afigea fohan
ST Al § ?

A) 2

B) 3

<) 5

D) 7

I F I AT
(A) =

(B) FHEX

(C) <

(D) ®EIR

g, Wil STIfE S S % Uiithenat
yfafaferce # wfae € ¢

(A) TRAR

(B) fave=

(C) s

(D) SR

Contd.




97. Which of the following is not an operating
system ?
(A)
(B)
©)

DOS
Linux
Windows
(D) Oracle
98. Which of the following is not hardware ?
(A)
(B)
©)

An MP3 file
A keyboard
A disk drive
(D) A monitor
99. What kind of thing is a daisy wheel ?
(A) Printer
(B)
©)

Storage device
Pointing device
(D) All of these
100. Which of the following storage units is
highest in capacity ?
(A)
(B)
©)

KB
GB
MB

(D) TB
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97. fr=fafea § 9 s T sfRfen faey
T/ ?
(A) =M™
(B) e
(C) faves
(D) RFd

o

98. ™

~

=l

~

el

T H Y R FEAW T T ?
(A) MP3 A

(B) whiaNe

() fe= gra

(D) WX

99, ISt =ia ford YR FT =S T ?
(A) T
(B) WRS feard
(C) e fear
(D) I |t

100. =it & & e TSRO e &rar §
T S ¥ ?
(A) bl
(B) Sfa
(C) Tmlf
(D) st
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10.

Four alternative answers are mentioned for
each question as (A), (B), (C) and (D) in the
Booklet. The candidate has to choose the
most appropriate answer and mark the same
in the OMR Answer-Sheet as per the
direction :

For Example :
Question :

.. ® @ © O
2. ® ® @ ©

Illegible with
overwriting will be cancelled.

answers cutting and

In case the candidate does not fill the
appropriate circle in the Answer-Sheet and
leaves blank, ‘Zero’ mark will be given.

The candidate has to mark carefully as per
direction the answers on the OMR Answer-
Sheet with black or blue ball point pen only.

Strict directions are hereby given to the
examinee to refrain from correction of their
earlier marked answer in OMR by rubbing or
scratching or using white fluid. In case of
violation of this instruction, examinee’s
result may not be processed or the examinee

may be declared disqualified in the exam.

The examinee shall hand over OMR Answer-
Sheet to the invigilator and can take carbon
copy of the OMR Answer-Sheet and question
booklet with himself.

Write your Scholar Number and other
required details in the space provided on the
title page of the booklet and on the OMR
Answer-Sheet with ink pen or ball pen. Do
not use lead pencil.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.
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4. TA-GRETHR H TOE TR % 9R qRIfad W

— (A), (B), (C) 3 (D) | wieneff 3 =i feremedt
T U Tt ST 1 997 HL 39 OMR ST-Uh
# fadorgEr fafed Y1 S F SW-T9F H
Hraferd W9 G B 1 YohR W
EEU 0

U9d

.. ® @ © ©
2. ® ® @ O

FTqfed ST a1 T8 ST = h1er 41 agen T |,
e = T s

Tfg qitenef STR-useR § ST Tl
Tl ¥ 3R SW-Te @ @l oig el §, d
‘3’ 31k T_TH e ST |

31geff 1 Y1 o W OMR STX-Ueh T Hadl
FA A A oA @ze U9 § FEwgER e
T B |

wienedt w1 wen v fu 99 ¥ fF 3w o
OMR ¥ & # fST 7T ST ! a5 & farg, e
T w1 & U AHE g9 1 STAN T w4 |
I T8 fAdw &1 STaRer St Sl § ar qdtaeff
1 Ufumy Aeh1 ST Tkl § A1 Y Tlen § sy
=ty feran ST Hehar B |

wderrett sy ifremd U A wen vee srga |
Y OMR STR-Ueh FRT8Teh & T ST it
O 94T OMR ST-UsTeh <ht ShTeld Ufd a9
Yy-YfTeht 370 TTL o ST Hahdl & |

TYA-GfIehT o @SS T 99T OMR ST-USeh
R fayifa Tom § whieR g adr o= faewm
T U9 1 dfcl g U9 W g R | Uf=aet SRt =i
TEN

10. T&T el H AT-gh, Thoopoled, ISR a1 Yeger

T o ST A1 ST STAIT HT Ffeid 2

TA-2




